Practice Questions Over Sections 8.2 -8.4
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4. Find the indefinite integrals. Show work.
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The quiz will contain a bonus question on trig substitution. Here are some for practice.
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b. Write entirely in terms of 6. Simplify your answer in the boxes as much as possible. Show work
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b. Write entirely in terms of #.  Simplify your answer in the boxes as much as possible.
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c. Write entirely in terms of x. Label the right triangle and use it to help you. Show work.
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c. Write entirely in terms of x. Label the right triangle and use it to help you. Show work.
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